Notes 1-5

Secl H Creating Linear Equations (Part 1) Unit 1
Warm-Up- Graph each equations.
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Slope-Intercept Form- Initial Value- b
=X+ b what you stad at (or w\’ﬂ\)
= pH+V1IX What y= when . =0

Constant Rate of Change-
+ what you are gainirq or fusing_ (Mdihﬂ or SUbhﬂ«ddhg)
< how wach y changes Qo eah X

Example 1: Writing equations in 2 ways:
A.y=2x+6 B.y=-2x+6 C.y=2x-6

Y=o 2% NG Ve -b+Iy
Example 2:
Jason has saved $25,000. He loses his job and now needs to live off
of his savings. He can live off of $1,500 per month. Write an
equation that can be used to calculate how much money he will have
in savings depending on how many months it has been since he lost

his job.
: ~7SDDO— (500,
= ~(50D3¢+ 25000

How much money would Jason have afte@mnths?

= 25000-| 50D -% =71500
%’-‘ 2500 "7956%'?%\6 0O lzfgooocj_"g soD = 111900

Y=17500
When would he run out of money?
1500 -llo- ()= 150001500
J(ﬂz’/i months 25000 1515000
T Whon woulde W e, §77 left 7 - =y ?

7/ = 75000 [500%,
7]=725000~ 1900 K
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Example 3:
Karen is finishing a quilt that her grandmother started. When she
received the quilt it was 5 square feet. Each day she more
squares to the quilt. Assuming she worked at a constant rate, write an
equation that would calculate how much she has done depending on
how many days she has been working.

=3 +2x

Ax+By=C,

Your parents gave you $50 to buy school supplies for your family.
You arrived at the store and find the perfect notebook and some great
fun-colored pens. You buy x notebooks for $5 each and y pens for $2
each, spending the entire $50.

SX N J0

Total for TD‘(al for Total
Notebooks Pens Spent

Standard Form:

If you bought 6 notebooks, how many pens did you buy?
S0
20X y= S0
~ -3D

O %’_ 2o
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Example 5:
The Ramsey family bought 4 sandwiches and 3 salads. They spent
$24. Let x be the cost of a sandwich and y be the cost of a salad.

By =24

If each sandwich cos @ ow much did each salad cost?
L 4(3.75)+2y =1 4
1543y = 24
39=49
Example 6: =9
A 100-point test has x questions worth 2 points apiece and y questions

worth 4 points apiece
2X+4y = (00

Y = Mo
When is an equation going to be in slope-intercept form?

'SerH\'ng Valul o You add or sulotadk 4o
*ONE hing Hhad nereases or dacreases

When is it going to be in standard form?

Tota| - N0 increase or decrease,
“TWD different 'f‘hiY\gS




